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ANNUITIES

3-1. Josh invests $50 weekly for 6 years in his savings account that has a
2.8% interest rate, compounded weekly. How much money will he have

after 6 years?
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3-2. Rhonda needs to have $2500 in three and a half years. What
monthly investment will she have to make if her bank offers a 4.8%

interest rate, compounded monthly?
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3-8. Ten years ago, Lanny started investing. He had two choices: invest

$500 monthly or $125 weekly. His bank offered an interest rate of 4.95%.
a) Find the present value of both options. 84,055 vs + ;133 L Co-\pmng
b) Which option would make Lanny the mqgst money? How much -
more interest does it make him? Mee.hlca 15 is er. He o
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